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Fig. 1. LO, +17dBm 600MHz. The input is green, rms=203mV. The output is black,
mean=95mV. Gain=(—6.6)dB.

File Edit WYert HorzfAcq Trig Display Cursor Meas Mask Math App MyScope Utilities Help Button

07 Now 07 06:43:58

- [ “curstPos - )

Winrms =417mY
© W out mean =338mv

Gain =081 =-1.8dB
........................ i
(ARl 100mV 2 Bw+ 2.5ns/div
EEEl  200mV  2.5ns 40.0GS/s 25.0ps/pt
e - 40.0mV
.
o] 100mY  500ps FEI=EN 200mY  500ps j
(BeE t1 : -145 Ops
t2: 2 .07ns
At: 2 .215ns
1/At: 451 5BMHz
(= rms* 338.0mV [[1:339.53774m m:336.5m IMi343.0m (6:906.11 )

Fig. 2. LO (similar to the black) p-t-p=x1.6V. Theinput is black, rms=417mV. The
output is green, mean=339mV. Gain=0.81=(-1.8)dB.

Note 1. NF=1.8dB.

Note 2. Asymmetry of output pulses. The first harmonic, p-t-p~(—12)dB. At the LPF
output (—36dB or —32dB at 600MHz), the 600MHz p-t-p residue is expected to be
lower than (48 or —44)dB. 1/300 or 1/160!

Note 3. The gaps between output pulses. The second harmonic, ampl~
~2X(Tgap/Tpulse)~(—6)dB. At the LPF output (-80dB or —70dB at 1200MHz), the
1200MHz p-t-p residue is expected to be lower than (80 or —70)dB. OK.
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Fig. 3. LO p-t-p=%1.6V asin Fig. 2. The input=0. The LO p-t-p isolation is better than
32dB.

At the LPF output (-36dB or —32dB at 600MHz), the 600MHz p-t-p residue is
expected to be lower than (—68 or —64)dB. OK.



